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Section 10.5: Arc Length and Curvature

Practice HW from Larson Textbook (not to hand in)

p. 648 # 1, 3, 9, 11
Arc Length

Suppose we want to calculate the length of vector function r(t ) = f (t) i + g (t) j  + h (t) k over some interval 
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We determine the arc length using the following formula.


Formula for Arc Length
For a vector valued function r(t ) = f (t) i + g (t) j  + h (t) k, the arc length L of the curve for the closed interval from t = a to t = b is given by the formula
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Example 1: Find the length of the curve 
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for the interval [0, 4].
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Example 2: Find the length of the curve 
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Solution: 
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Note: The following graph represents a sketch of the vector valued function 
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� EMBED Equation.3  ���








_1451726955.unknown

_1451727169.unknown

_1228808632.unknown

_1228809639.unknown

_1228808571.unknown

